Working with Fractions.

There are three children in a family, Alice, Bryan and Chloe.

Uncle HORATIO wants to give them £240. He has several plans for sharing out the money:

Uncle Horatio’s plan
Same sort of fractions
Amounts
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Copy the table, then for each plan:

a) Write down each share using the same sort of fraction.

b) Write down the total of Alice’s and Bryan’s share as a fraction.

c)  Write down the difference between Bryan and Chloe’s share as a fraction.

d) Work out the amount of money each child gets.
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Copy the table, then for each plan:

a) Write down each share using the same sort of fraction.

b) Write down the total of Alice’s and Bryan’s share as a fraction.

c)  Write down the difference between Bryan and Chloe’s share as a fraction.

d) Work out the amount of money each child gets.
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